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Question paper for the selection of the post of Asst. loco Pilot (ALP) in Level-2 against 50 % PRQ under

Sr.DEE (OP)/DHN.

e fadh /Exam Date : 24-09-2024
AT | Time - 15:00 ¥ 17:00 TodH

Iufteart & fru 3mawg® fAE Minstructions to the candidate.

1. fifea ofar & 100% TS U € W
TEReHAT &1 6.

Written examination consists of 100%
objective and the entire question are in the
multiple choices.

2. @ 110 R m ¢ Fred 10 wonmwr &
dopfreyy T
Total 110 questions are given including 10 7
questions on Rajbhasha (Optional).

3. Inficar! & T & W & fF d Had 100
U8t &1 & IW & UdS U¥ IF P I 8, U
anadff grT 100 ¥ 3@ uslt &1 I e S
2 3 ¥aa gea 100 U BT € T e 8.
ST
Candidates are advised to answer only 100

questions. All objective questions will carry
equal marks. Each question carries one
mark, if the candidate is attempted more than
100 questions, only first 00 gquestions
attempted will be evaluated.

4, A IR & I THRAS HFHH e TdD 9.
e IR F 1Y 173 31 S 3 e spufa
3 TTeTd STRI & 1Y U 3 Il S|
There shall be negative marking for incorrect
answer.1/3 of the marks allotted per question

will be deducted for every wrong answer that 10.

means for 3 wrong answers one mark will be
deducted.

5 ol 9! ad B @ Wil A7 T FE A

] ITAT FAT § YT IS I YIS FI 11,

Teaie gl far S|

Candidate should use only single colour ink
blue or black otherwise their answer sheet will
not evaluated.
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QUi /Max. Marks  : 100
3f) /Duration  : 120 fAFE / Min.

T TER & T% BT IR &3 FHASH TR
F1 NaRIER, Bfen, Rivied Ffda fbg
T IR 1 eI Tol fepdT ST |

While answering objective type question, no
correction like overwriting, cutting, erasing,
scoring of ticked answer and modifying the
answer in any way shall not be evaluated.

. guflead @ uden g § HiEwsd B,

Fagac, saene Ud, wgy 3fe & IH

Bt A T &
Candidates are not allowed to carry mobile
phones, calculator, electronic watches,

Bluetooth's etc. in the examination hall.

Iftear ®i U AW, A AR, I T B
®”E T FE YggH fg T8 fae =@t
RS9l &1 UreH 3 H Apaar $ gRumesy
3aT 8 gt g

The candidate should not write his/her name,
roll no., place of working or any identification
marks. Failure to observe the instructions
may result in disqualification.

Uy U7 e iR & o Aem A 81 faae @
R & oh vy i ureore | S |

The question paper has been set in English
and Hindi. In case of ambiguity the English
version is to be considered authentic.

faft ot e e & wme F Iudicart &
g & fear S|

In case of any unfair means the candidature
will be cancelled.

Sufiear IuiEd T &1 B @ Urad Y |

Candidates should strictly follow the above




1. 20+(90+2) is equal to:

A. 50 B. 55 C.65 D. 60

2. Solve 24+8+2.

A. 5 B.6 C.8 D. 12

3. Solve: 300 — (150%2)

A. 150 B. 100 C.50 D.0
4. What is the value of x in 2x + 5=11?

A) 2 B)3 C)4 D)5

5. What is the area of a circle with radius 4 cm?
A) 16 cm? B) 20w cm?

C) 257 cm? D) 36m cm?

6. What is the sine of 30°?

A) % B)23 C)% D) 4/5

7. Find the area of a triangle with base 10 cm and height
6 cm.

A) 20 cm?
C)40 cm?

B) 30 cm?
D) 50 cm?

8. What is the average of 2, 4, 6, 8, 10?
A)4 B)5 C)6 D)8

9. A car travels 200 km in 4 hours. What is its average
speed?

A) 40 km/h
C) 60 km/h

B) 50 km/h
D) 80 km/h

10. Find the LCM of 4, 6, 8.
A) 12 B) 24 C)48 D) 60
11. What is 25% of 2007?

A) 40 B) 50 C) 60 D) 80
12. Find the LCM of 4, 6, 8.
A) 12 B) 24 C) 48 D) 60
13. What is 25% of 2007

A) 40 B) 50 C)60 D) 80

14. If a product costs ¥100 and is sold at 20% discount,

what is the selling price?

A)Z80 B)%90 C)¥100 D)T120

15. If a product costs #50 and is sold at 60, what is the

profit percentage?

A)10% B)20% C)30% D)40%

16. If a product costs 100 and is sold at 280, what is the

loss percentage?

A)10% B)20% C) 30% D)40%

1. 20+(90+2) &al ¢:
A. 50 B. 55 C. 65 D. 60

2. 24+8+2 & A HY|
A.5B.6C.8D. 12

3. ol &{: 300 - (150%2)
A. 150 B. 100 C. 50 D. 0

4.2x +5=11 3 x & AlA FAT 87
rp2a 3@ 495

5.4 Taoam arel ga &1 AT fhear 87

w) 161 AFr &) 20m ¥ A 257 FA” 2N 36m aAT

6. 30° dr FAT AT 72

T) %) 2/34) %3 4/5

7. 3menT 10 e 3R FArS 6 DAY AT By F
TR AT H

T) 20 ¥ &) 30 FHP @) 40 I#Ar 3 50 FHT

8.2,4,6,8, 10 &I 3raad &1 82
45638

9. T&H FN 4 €& & 200 e werdh &1 sEH AT
afy 4T 87

w) 40 Raveer &) 50 fRdEer
) 60 Frsfiraer o) 80 frefveer
10. 4, 6, 8 & LCM ATd Hifaw|
©) 124 24 4 482 60

11. 200 T 25% T 87

T) 40 &) 50 €) 60 =) 80

12. 4,6, 8 & LCM 31a@ Hifaw|
T) 12 &) 24 €) 48 =) 60

13. 200 & 25% T §?

1) 40 &) 50 ) 60 3N) 80

14, 3 B 3curg & FAd 3100 § AW 3] 20%
T O A e &, o s A = &7

) 280 ) %90 ¥ 100 ) 120
15.uﬁﬁsﬁmﬁmzso%mﬁ 260
Jar ST ¥, o faerd H 87

) 10% &) 20% H) 30% ) 40%
1s.aﬁmﬂmﬁaﬁmuoo§3ﬂr3¢zso
& aar e ¥, o afer sfoRra &= &7

w) 10% o) 20% ) 30% 3) 40%
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17105 men can do a job in 4 hours, how many men are

neadod to do the job In 2 hours?
A) b 1By 10 C) 15 1) 20

18 What is the simple interest on 21000 at H% Intorosl
rate for 2 years

AV T1I00  BYUIbo  C) 200 D) 260
19 1f the simple intorest on 8600 is 75, whal is the

interest rate?

A) 5% B) 10% D) 20%

C) 16%
20. What is the sum of interior angles in a triangle?
A)180°  B)270°  C€)360° D) 450

21, Who was first woman prime minister of India?
A. Sarojni Naidu B Indira Gandhi
C. Sonia Gandhi  D. None of these

22, Which is the national sport of India?
A Hockey B, Cricket C. Kabaddi D. None
23. When India become Republic?

A. 26 January 1950  B. 30 August 1942

C. 15 August 1947 D. None of these

24. When was 'Quit India’ Movement started?
A. 1857 B. 1930
C. 1942 D. None of thes

25. Varanasi is situated on the bank of which river?
A. Yamuna B. Ganga
C. Koshi D. None of these

26. Head Quarter of Railway Board is situated at
A. Patna B. Delhi
C. Mumbai D. Hajipur

27. Who is the head of personnel department at division
level?

A. Sr. DCM
C. Sr.DPO

B. Sr.DOM
D. None of these

28. What is the full form of DRM?
A. Divisional Railway Board

B. Division Rail Maintainer

C. Divisional Railway Manager
D. None of these

29. Who wrote the book 'The story of my experiments with
the truth’

A. Rabindra Nath Tagore B. Mahatma Gandhi

C. Bankim Chandra chatarjee D. None of these

30. Who wrote national anthem of india
A. Rabindra Nath Tagore  B. Premchand
C. Bankim Chandra chaterjee D. None of these

31. Which vitamin is found in lemon and orange?
A. Vitamin A B. Vitamin B
C. Vitamin C D. None of these

17, 9f8 5yl UE WA Y A4 0L H R THS g ar
S a2 ud Y e & v s snefAat &
awa g v 5@ 10 i 15 @) 20

18,2 at & fau 5% sarsr &1 9 000 9 #yreor
wurar et gy

) 2100 ) 2160 ) X200 ) 2250

19, af} 500 UL IURUT &UTe 375 G E A
¥ w) 5% &) 10% @) 15% &) 20%
zo.wﬁwﬂaﬁaﬁﬁmaﬁru‘mmmg?
1) 180° d) 270° #) 360° &) 450°

21, W Y qge AR st #A wler 27

A, el arag B. gRar aneh

C. wfyar aiey D. g & FS AGH

20, WA & TSI Al FhaA AT 82

A. gYY B. R C. Fagsl D. S g

23. §Rd &a OIS qAT?

A, 26 STadr 1950 B. 30 3PTET 1942

C. 15 3@TET 1947 D. 18 & NS e

24, 'HIRE DYSY JNieTelat Hal Y FIT AT?

A 1857 B.1930 C.1942 D.3H & F:$ AGl
25. aEord fFE 7 & d¢ W Fua 87

AW B.WET C.#RN  D.gAA § FE el

26. 3 S F1 FEATR U §
A. g B. RReelr
C. Ha$ D. goiqX

27. GHIT TR W FHidsh QT & 9@ Fa gar &2
T B few @ @faww e

. AR e D et § wig Al
28. AJRTH F U7 & KA1 §?
AFS Woid @18 WY RBde Y e

o AET X WEUE D ZAH § FS AGT

29. GTUTE & WY A wART A FEEr TEA Hwe
fad?

A. W@leg ATy AR B. ATeHT el

C.af%H 9% Tesll D. g & F$ N

30. ¥R T T forwar fon

A e Ay BIR B SHES
C.afpw O wesit  D.3H ¥ F1$ ¢

31. +ffq 3R wa & Fa W fefda a@n S e
v. Rafd= o & R &

c. ferfas @ D.3aAd ¥ FS FhT
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32. Who was the first Indian to receive Noble prize?
A. Rabindra nath Tagore B. Premchand
C. Bankim Chandra chaterjee D. None of these

33. Jantar Mantar is situated in which city of Indig?
A.Patna B.Delhi C.Mumbai D. Hajipur

34. Birbal was in the court of
A. Akabar B. Humayu
C. Jahangir D. None of these

35. Deficiency of which vitamin causes night blind
A. Vitamin A B. Vitamin B ness?
C. Vitamin C D. None of these

36. Red colour means in railway signalling system?
A. Stop the train B. Start the train
C. Slow the train D. None of these

37. What is India's largest industry?
A) Agriculture B) Manufacturing
C) Services D)IT

38. Which city is known as the “Financial Capital of
India"?

A) Mumbai
C) Bengaluru

B) Delhi
D) Chennai

39. Who is the current President of India?
A) Droupadi Murmu B) Ram Nath Kovind
C) Pranab Mukherjee D) Narendra Modi

40. Which state is known as the "Land of Spices"?

A) Kerala B) Tamil Nadu
C) Karnataka D) Andhra Pradesh

41. What is the Nominal OHE voltage required for electric

locomotive?
A. 35 KV B. 11KV
C. 25KV D. None of these

42. What is the battery voltage of WAG-9 Locomotive?
A. 120V B. 115V

C. 110V D. None of these

43. What is the rated voltage of TM of WAG-9
locomotive?

A. 2180V B. 2200V

C. 1100V D. None of these

44. Which type of traction motor are used in 3-phase
locomotive

A. DC shunt motor

B. Three phase Induction motor

C. Single phase Induction motor

D. None of these

45. How many main air reservoirs is/are there in WAG-9
Locomotive?

A1 B.2 D. None of these

C.3
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32, Avarer qrEeR gTed FIA AT TIH AT Fhy 9

A W@eg aner PR B. Y#4g
C. #fhw g wesdf D. 7% § &5 A&

33. SiaT Aaw HRa ¥ fRE et A Bud €7
A gear B.feeeh €. Hag D. gTofge
34, dREer fhud e@r # A7

A.-3Fa B.gAy  C. @M D.go# & #ig gt
35. fhe Rerfder & et @ Tdith ar ghar 27

U fafaa v @ Fafaa &

C. fafa= o D.g1d @ # At

36. Yo RRFarfoiar Yool # ofer o1 &7 FAT Aded 27
A3 U B. 371 o &

C. & ofiehr #Y D. 31 § #E g

37. 9@ T HaR FI7 3T A AT 82
T) Y &) RAAor @) Jaw D) S

38. ®le AT AW "0RA H T gAUE” F w4 F =

ST 87
U AEE &) et @) dogqw @) I

39. IRA & TIAR IWCqfY HlT &2

A) GlaeT 73 B) THATT ahifde

) gue AEst ) Jig A

40. e 5T Y "warEt fr 9fAT F T ¥ ST S
82

U) e o) dffeas @) Fwded 9 sy wdw
41.37fFca AFAIRT & AT HTTeTF ATHATT OHE dleer
FTE?

.35 . 11 &4

o 25 & 3 gTH A IS G

42 WAG-9 disifiea &I e aYeeor fhae &2

T.120v & 1154

@110V & sAN A RS A

43. WAG-9 diIafed & TM &7 328 alee ol 47 &2
T.2180 ar. 2200 &

@ 1100 Y A AN A F TG

44. 3-%51 ARARET 7 R THR Hr SR A #3947
fopar ST §

T, ET 9E AN Y. e TRoT IR FeT

oY, FRTer Yot 2 AleT ). 379 A FS A

45. WAG-9 SidIAIRed #f fciet Ay a1y SR &8
@2 @3 DA

T.1



46. FDU is used to

A. Detect fire smoke in locomotive
B. Control fire in locomotive

C. Extinguish fire in locomotive

D. None of these

47. How many battery boxes is/are there in WAG-9
locomotive?

A1 B.2 C.3 D. Noneofthese

48. Locomotive battery voltage is shown in cab through

which meter?

-_—
|

46. Uy w1 A RRar S &

U.. SR ¥ 3mar & YU &7 e qame

q. AwEa A wrar ox o

. Swrfea Ay qFAT D ITH A B A

47. WAG-9 dr@mfa 3t frae def afam g

31 @2 W3 DIAAAHNS I

48 QAT dcd RS 1 da F few Mer F smegn @
@ srar &2

é' thAI;A %LE/BEf tgdt SAFHE @ wowAT D FFAIIEAS
A gauge . None of these
49. 3-55 AFART # fFast OCB & &2
49.How many OCB is/are there in 3-Phase locomotive? 3.1 24
A 1no B. 2 nos. : TR
C. 3 nos. D. None of these W 3A. B! 8 3 e

50. What kind of motor is used in Qil cooling Blower?
A. DC motor B. Single phase AC motor

C. 3 phase AC motor D. None of these

51.. MVMT is used in WAG-7 locomotive
A. For cooling of TFP all

B. For cooling of TM

C. Far Cooling of SL D. None of these

52.. Compressors is used in electric locomotive
A. To build-up MR air pressure

B. To run the locomotive
C. To stop the locomotive  D. None of these

53. What is the function of MVSL in WAG-7 Loco?
A. Cooling of Silicon rectifier

B. Cooling of SL-30
C. Cooling of TFP D. None of these

54 Which of the following loco uses MVSL blower?

A. WAG-7 B. WAG-9
C. WAP-7 D. None of these
55. ARNO s a

A. Static converter B. Rotary Converter
C. Single phase converter D. None of these

56.SIVisa
A. Dynamic Converter B. Static Converter

C. Rotary Converter  D. None of these

57. Current is collected from OHE to A.C. loco through
A. Transformer B. Circuit breaker
C. Pantograph D. Servo motor

58. ZPT switch is used to

A. Raising of pantograph

B. Lowering of pantograph
C.BothA&B D. None of these

50. e HiAT AR A T TR AT AT F7 37707
ST 7

T 3RA AT . ¥ 7 T AT
C.AdTmuITd AeX  D. 377 ¥ FE A8

51. MVMT &7 39317 WAG-7 aidAiea & a1 Jrar €

A. ATE I F ST & fAw B, ATH F 3T & AT
o AT R ST A S AT DT A RS T

A2 Rrafafla & @ Sl §7 ol THATHTS SR F:T
YT FAT 87

A.WAG-7 1. WAG-9

64

. WAP-7 D.sa¥ @ SIS ag)
55,53’.%?@%
T. VifYs saax . A FHaR

. THA WOT FAGe  D. 3 | S 7

54 gafaes SIRAITed § HUE T 39U Rhm St §
A. THIR I 19 &1 & T

B. AT To= & A
C.AsAIRT AN s F AT D. TR A RS T
J55. WAG-7 et § MVSL &7 37 1 87

A. RfaE YeewrT #1331 e

1. THUN-30 FT 33T 3T

ol

H>

C. Aruwd 7 S37 @ D. 37 § F§ ¢
56. SIV U &

Ul Faaer @ ©fas s

. A FaaE D. 3N § 9§ T

57. S  T.H. FE q e vHT A Jar d

T. THBRR Saffedam o fAaw N EETAaR
58. ZPT e & 3qaieT fvar Sra ¥

A, JeWITE @ @ S &) SRITE Y AN S
Cc.AdR BN D. 343 § # aft



59. Maximum air pressure in electric loco brake cylinder
with A9 application is

A.25kglcm2  B. 3.5 kg/cm2

C.2.0kg/cm2  D. 5.0 kg/lcm2

60. Sand is used in locomotives to avoid
A. Wheel skidding
C. Brake failure D. All the above
61 Regenerative braking is used in

A. Conventional Loco  B. 3-Phase Loco
C.BothA&B D. None of these

62. How many Taps are there in Tap Changer of WAG-7
transformer?

A 12 B. 24

C. 32 D. None of these
63. The ideal value of power factor is
A. 0.9 B.0.8

C.1.0 D. None of these

64. The work of step down transformer is to
A. Change the voltage

B. Reduce the voltage

C. Give constant voltage

D. None of these

65. The material used for fuse wire is
A. Lead + Aluminium B. Lead + Tin
C. Aluminium + Copper  D. Silver + Copper

66. Current is measured in...
A. Ohms B. Amps
C. Volt D. None of these

67. 9-volt battery that give 5A current. how much power
will this battery will generate?

A. 9 Watt B. 45 Watt

C. 14 Watt D. None of these

68.Which device converts electrical energy into
mechanical energy?

A. Motor B. Generator

C. Transformer D. None of above

69. Find the correct formula, | = current, V = voltage, R =
resistance
A.l=VR B.I=RNV C.V=IR D. None of these
70. Copper wire is a

a. Good conductor b. Bad conductor

c.Bothaandb d. None of this

71. Which type of current is obtained from a battery?

a. AC b. DC

c. Both AC and DC d. Depends on type of battery

72. During the situation of short-circuit, the current in the
circuit

a.reduces to zero  b. increases greatly

c. does not change d. oscillates

B. Wheel slipping GLo
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Tiz.s a2 . 3.5 fpam /a2

2.0 Rrama2 .50 pam/a 2
;,wmﬁmﬂmmﬁmmmg
A, R e a, e e
. s Aerdr & 37Fd Aol
61, Teraifal 3T T AT foRaT ST €
tr.tr;ivﬂﬁa‘m‘r &t 3-2oT el
C.AMRBEA  D.3AHAHSAC |
62.WAG-7zmrmﬁt$tqémﬁﬁmﬁ%qma?
312 @24
@32  D.3ARAFS AT
63. raR e T e Al &

T.0.9 &1.0.8

W10 DA ARG A

64. TET 3137 TTAGIAT T F &

T, dlees Saot . AT FA R
C.feraeesrd  D. ool & 1 =7
65. It A & fore ygF wmef §
A.W+Q@gﬁﬁqﬂ &, T + ooy
. T AT + qiar D. TTEY + arar
66. &IRT AT ST ...

IR @

#aAlee Dz ARS TG

67. g-mﬁmasAmménmmﬂam

Ig d 7 T.9aKe #. 45are

W4T D. 37 @ S A

68.FlT TN 3THIVT RIS Falr &t A1k Frft 3 RE T Far

¥ T. AR ar SemeR
L gHER D, 3RFT F F FIS 8
69. TR T AT Y, | = URT, V = @eew, R = iy

TS =dHR 3 = I
WA=3EIR D.3aN A S oy
70.A@FAE T ITHT HARH | Harew

HIANRBAA & zwad Qe ag
71. 38 I fRE YR Y Ry ST 2l 32
Tl TH &1 S
W T AR AW A ) deh & ger o AR Fwar

72. Aré-afde i Uiy & e vfde & s
U A FEAR N Sgd g ATy
Y| SEelalr Ha 31| oscillates



73. Which of the following circuit elements will oppose the - 73 gt it @t e w1 affe dea wife # TRads &t
change in circuit QY ¢
current? A. Capacitance B. Inductance QU &y e o afan CINEC |

C. Resistance D. None of these @ gfadu D sAR A FE AL

74. Power factor of electric bulb is 74. Rega aea &1 arat haet §
A. Unity B. Zero vuwar g W aEol Dgent d e ad
C. Leading D. None of these

75. How many LHAP are available in a calendar  year? 75. 0@ delsy 'dE_f A f5e LHAP JUeial g1 87
()10 (b) 15 (c) 20 (d) 25 @ 10 @& 15 (&) 20 () 25

76. 3Hfepan o THarafy & fre ard S@yTe Hadbm
76. What is the maximum time period for which child care Rﬁq;a fpar o g&dl %7

Leave can be sanctioned?
(a)1 year (b) 2 years (c) 3 years (d) 5 years Q) 13 (’qﬁ) 2 I Gﬁ) 3 9w (ﬁ) 2SIt
77. What are the maximum no. of LAP's that can be 77. LAP &1 3feam wom & g, Rt Jarrgfal & TG 2
encashed at the time of retirement? WW% (T) 150 ('ef?) 200 (?ﬁ) 300 (C‘ﬂ) 360
(a) 150 (b) 200 (c) 300 (d) 360
78. What is Pass? 78. URFR?
(a) Pass is a Privilege. (b) To travel in Railway @) TN TS RARWHR & (Eﬂ) YA § gt dRA & o

(c) Authority given to a Rail | tot 1i e ot e y
train gratuitously. (Z)aNo?':t;N :fyttelg;z.o yee o favEne Gﬁ) Y e . ® gqlﬁ o S = 12
fgm T SRR @) 3T A FI Ta

79. Full form of P.T.O. T
(a)Personnel Ticket Order (b)Permanent Ticket Order 7. tﬂaéﬁmw il
(c)Privilege Ticket Order (d)Pass & Ticket Order. @ WA ewe amew () TRiHe e e

@ R Ree R (&) TN &R Rde 3w

80. What is the full form of D&AR? e
(a) Disaster and Accident Rescue team 80. ST TS USR &I qpf ISRERl %? ;

(b) Discipline and Appea] Ruleg (Q) el GﬁTgﬁFﬂ’sﬁﬂaiﬁ (TSﬁ) SR AR e Ao |
(c)Department and Administrative Rules (“\‘ﬂ) Ry ok vyl fam (3:1) a3k ars fran :

(d) Disaster and Action Rules 1

87. Read the passage: "l have a book. It is red."

H H " Il’)
i; .CV(\)/gat s opposBl;ev\cl);”:ot ’ What color is the book?
. A) Blue B) Red
C) Sunny D) Rainy C) Green D) Yellow
82. What is the plural form of "book"?
A? Bo:: HSEIS R g) Boc:ks 88. Read the sentence: "The sun rises in the east."
DRSS D) Boolcs Where does the sun rise?
83. What is opposite of "fast"? A) \'I\IVes; B) East
A) Slow B) Quick C) Nort D) South
€) Run btk 89. Write the correct sentence: "Me go to store.”

H H " ll?
84. What is the verb in "l read a book™"? A)Igotostore. B)Me go to store.

A)l B) Read

C)) Book D)) A C) | goes to store. D) Go | to store.
85. What is the plural of "cat"? 90. Write the plural form of “tooth".
A) Cat B) Cats A) Tooth B) Teeth

C) Cat's D) Cates C) Toothe D) Tooths

91. Active: "The dog bites the man." Passive: __
A) The man bites the dog.

B) The man is bitten by the dog.

C) The dog is bitten by the man.

D) The man was bitten by the dog.
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86. Read the sentence: "The cat is sleeping.”
What is the cat doing?

A) Eating B) Sleeping

C) Playing D) Running




92. Read the sentence: "The dog is barking loudly."

What is the dog doing?
A) Sleeping B) Barking
C) Eating D) Running

93. Identify the synonym for "fast"?
A) Slow B) Quick
C) Strong D) Weak

94. Which article is used before a noun that begins with a
vowel?

A) A B) An

C)The D) None

95. The Indian Railways is one of the largest employers in
the world."

What is the Indian Railways?
A) A company B) A government organization

C) A school D) A hospital
96. What means "to help"?

A) Assist B) Stop
C)Run D) Hide

97. What is the verb in "The sun rises"?

A) Sun B) Rises

C) The D)lIs

98. What is the plural form of "foot"?

A) Foot B) Feet

C) Foot's D) Foots

99. What means "a person who studies™?
A) Student B) Teacher

C) Doctor D) Engineer

100. Which sentence is correct?
A) The train arrive at 5 PM.

B) The train arrives at 5 PM.

C) The train will arrives at 5 PM.
D) The train arrived at 5 PM.

101 3T TSTHTST Fdieads AR & Jeaat -8/

A. YasEd/Minister of railway  B.ST#H/ GM
C. Tg 3 HTA/SDGM

102. Fezd AT Fwadd SRfG & FegeT 8
A i TH.GM B.AIY/DRM
c. afit. #9fw/Sr.DOM D.wgr. IR/AOM

103. fRed) Raw & AaTIT AT 872
(v)18 Rydwat (@) 14 ReFsT
(¥) 2 s} (2Y) 8 3TET
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D. v #r 3 TA/PCOM

104, Tomar JfOfAas wa a7 ?
(U)7 S« 1963 (dh) 17 #1% 1963
(@ )10 75 1963 (&) 17 3ATET 1963

105, TANTST HIZT &l 36e1 e [l 71T
(U)7 57 1955 (d) 7 5 1956
(#1073 1963 (3N 17 ST 1952

106.TT9msT 3T & foherl weed ar &
() 20 (&) 15 (&) 30 () 10

107.JrommeT o oA & g fhas @ed 81 §
(W40 M20 (30 (325

108.7ror3myT HTAFRIA F AT AT ?
() 1967 (s) 1963 () 1976 (3T1) 1965

109.TTHTYT AT, 1976 FITAR 3HUSHE fARETR T
g e 8 7 I €

(0) '@ a7 (&) or &7
@ Feas (@) F e @ aT ar
110.87Rd & TIH TCHA Dot 87 —

(T) AfFeleror e IR LE
(@) Taadr RE RaAww (& ) 378 F FS agf
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